Crs 1STXI Vs Heriot's
AN Club ey
P Venue: Grange Loan Date: 15/05/2021
2
Q.\\ Result: Carlton lost by 58 runs
(===
M Toss Won By:  Carlton
= S
Innings of: Heriot's Bowling
No [Batsman How Out Fielder Bowler Runs Bowler Overs |Mdns |Runs [Wkts
1|MH Cross + LBW Gupta 5 1|0 Ahmad 6 1 14 1
2|C Acheson Bowled Gupta 6 2(S Gupta 7 1 27 3
3|H Van Der Berg LBW Gupta 24 3|R Mclntyre 6 0 48 0
4|L Brown Caught Allardice Ahmad 0 4|A Raza 7 2 28 1
5|K Morton Not Out 47 5[U Mohammed 8 0 28 1
6|R Brown Caught Ahmand Raza 20 6[R Allardice 6 0 18 0
7|GT Main Bowled Mohammad 19 7
8|J Kinghon-Gray Not Out 36 8
9|EE Ruthven DNB
10|A Neill DNB
11|E Hutchinson DNB
Extras (2b, Olb, 5w, 1nb) 8
Total (6 wickets; 40 overs) 165
Innings of: Carlton Bowling
No [Batsman How Out Fielder Bowler Runs Bowler Overs |Mdns |Runs [Wkts
1|A Pillai *+ Caught Kinghorn-Gray Ruthven 24 1|EE Ruthven 4 0 29 1
2[H Laing Caught Kinghorn-Gray R Brown 19 2 |A Neill 5 0 22 1
3[S Khan Bowled Neill 3 3|GT Main 5 2 6 2
4]A Shah Run Out Van Der Berg 0 4|R Brown 4 2 8 2
5[R Macpherson Caught Cross Main 0 5|E Hutchinson 4 0 27 1
6{U Mohammed Caught Cross Kinghorn-Gray 29 6|J Kinghorn-Gray 3.1 0 10 1
7|S Gupta Bowled R Brown 5 7
8[R Allardice Bowled Main 0 8
9|A Raza Run Out Van Der Berg 0
10|R MclIntyre Caught Main Hutchinson 7
11|0 Ahmad Not Out 1
Extras (5b, 0lb, 13w, 1nb) 19
Total (10 wickets; 25.1 overs) 107




